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/‘A) 1 B) 2
©) 3 ®) 4

The number of women who have become Chief

Ministers of Rajasthan till date as on 1* September
2024; =

Choose the most appropriate answer from the
options given below: B

1 Ry 2024 Wumnﬁgaaﬁmftnﬁm
e T &2

(E) Question not attempted / 37 5

Who among the following was appointed the
deputy Chief Minister of Rajasthan in Deccmber
20237
Choose the most appropriate answer from the
options given below:
(A) Gajendra Singh Khimsar
(B) Rajyavardhan Singh Rathore
(C) Bhajan Lal Sharma
(D) Prem Chand Bairwa

Question not attempted

ﬁqﬁ-rﬁaaqﬂ%&ﬁwzozs 7, uam:ré:
Fye W g frarmran?.

ﬁﬂﬁ%ﬁﬁﬁ#ﬁwﬁﬁmmﬁ

(A) T g fawa

(B) gAY figwEe

(C) W= AT It

aar.
‘/?EB))imaz

S 94
Select a Rabi Crop grown in Rajasthan:
Choose the most appropriate answer from the
options given below:
(A) Barley (B) Bajra
(C) Maize (D) Rice
(E) Question not attempted
TerEaT I I arelt Tl TR 99T Fifg;
Pt foet i & walfed Tugem swog;
St (B) T
© v (D)

~AA) @&

(E) aq‘eﬁaw

- OPQ-X12] * : B

Given below aré two statements:

Statement (1) In Rajasthan Pabuji is y,o o

as the God of Camel.
Statement (I1): Pabuji is credited to be th, firg

bring Camel t0 Marwar.
In light of the above statements, choose the

appraprmte answer from the OPUOns g],
below.
(A)

I

Both Statement (I) and Statement (")

correct. _
Both Statement (I) and Statement (fy) are

incorrect. ]
Statement (I) is correct but Statement (ID

t

(B)
©

is incorrect.
Statement (I) is mcorrect but Statemem
(1) is correct. ;
"(E) Question not attempted

o @ sper fag T

LU ?ﬁsn?ﬁ%l

o (TI): mﬂmmaﬁﬁwmﬁ

2l
ITIE FYAT & STl ﬂ%ﬁﬂwﬁwﬁﬁﬁ

wﬁﬂﬁmmaﬁl

7 W(naﬂtmq(u)aﬁmﬂ%r
(B) &M (I) SR (IT) T 71T &l
(C) T (1) el & e e (1) 7T el
(D) e (T) TTeTel & e T (1) FET 2l
(E) ojuiayd

Rulers of the princely states have treasured the :
accounts of their valour, victories etc. written by
the chroniclers. What are these accounts called?
Choose the most appropriate answer from the |
options given below: :
(A) Khyat (B) Vachnika
(C) Dawavait (D) Vaat

(E)  Question not attempted

m%mﬁ%mmﬁﬁmﬁmﬂm’f
ﬁﬂmﬁm%@maﬁaﬁ@‘rﬁa@ﬁ
&1 7 gt o e 22

Ferel 3 & wraffire qog@ I LT
(B) Eﬁrﬁﬁﬂ
(D) 3@

(D)

©

€)  Eha gy
[ Confd--'

'A"_‘*. ks, o R T Lt 3ot
e T TS Yt L P, i
T A H f
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Which dialect G
hich dinlect is spoken in the areas of Chury,
Jhunj
wnjhunn, - Hanumangach,  Suratgarh and
Gangmmgaq?.-', ki
N i\’ P
Choose thelThogr appropriate answer from the
options gi\'c(q }wlm\': |
(A)  Malviny
(B)  Shekhiatvati
)
(©)  Mewati,
(D)

(E)  Question not attempted

T, T, T, s S v 3 A

Wagadi

17wt el ael s
Frrefeafiea fiqpedt 3 & ravfores swges saug:
(A)  wERy
(B) Y@
© et
P s
(B) Sl
4%
)

In Rajasthany ‘Sanjhi* is made during the
Shraddha E’Ellkslm (fortnight) before ~ which
festival? (O
Choose the most appropriate answer from the
options givep below:
(A)
pte
(B) Holigyy
(©) Diwdii
i
(D) Pongaly
(B) Question not attempted
T i e e & e AT T i s

sz )
e e & e g e g

L
Dussthra
'

@ TS
et ‘
(©) ﬁaﬁﬁg

9

/.(AT T

) .clvd.
Which of the followlng reglons €€

Iighest rainfill In Rajasthan? i he
Choose the most apprppriate answer

options given below: ™

(A)  Rajsamand ) Churt

(C) Nagaur oP Bikaner

()  Question not ajlempted i T
rewr i B i Q ﬁéﬂ-m waifid

war e %—:ﬁ
fmRifny Rl 3 O waifaw :WW
(P) & N
(4 &
(C) qnhtm gg)) _ AT | {'}
(B) STuiETyd
o ot : '
O or dhi Sagar
In Rajasthan on whiclLgiver 18 the Gan
Dam located? N
Choose the maost ap}r—r?;prlarc answer from the
options given below:

(A) Saraswali c(B) DBanas
(C) Chambal ) Mantha
(E) Question not atle npted
TR i R A T w faa e
P e i wariferes Juges s H:
(A wEEl ()
o W= (D) ¥t
(B) i@ wx R
e

10

. TG et Yy et & S enee .

AT

In western RajasthanXhot dry and dusty winds
start blowing in sunﬁers \vtfit‘:b are known ag
———a r-{
Choose the most appropriate: answer from th
options given below: [ 2
(A) Kaal Vaishakh (B) ‘Mavath
(C) Loo b) Monsoon wingg
(E)  Question not aftempted - :
aftreft Trereer 3 sferong F mhyres s

O iy

. el ,

Feafitr R a“w’“a“%mﬁ. .
(N FEIM@  CB) T "
. (D) R T
(B) rgafawx 15
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{1 Which of the following is not a part of human
male reproductive system?
(A) Seminal \'csicic (B)
(C) Vas deferens (D)

Fallopian tubes

Testes

(E)‘ Question not attempted

FrerfRrRae 3 2 WY W I W0 T
s

(A) YRR @y O e

(€) AT D)

(B)  STuiee Wy

12 " Which of the following is not a type of tecth in

. humans?
(A) DPylorus (B) Canines
(C) Incisors (D) Premolars
(E) Question not attempted
ﬁm%miiﬁaﬁmmﬂaaﬁﬁaﬁwmmaﬁ
i)

V(AY' qTEEId (B) W&
(C) FH (D) W

agaRa ¥ !

following list, select the organs of the

(E)

From the

human digestive systen:
b.  Trachea

a. Rectum
c.  Ocsophagus d. Urinary bladder
e.  Pharynx

Choose the most appropriafe answer from the

options given below:

(A) b,dande only (B) ¢ and d only
(C) a, ¢ ahd e only (D) aandbonly
(E) Question not attempted

ﬁ:r%ﬁaﬂ_,ﬁaﬁﬁqm%wdﬁmﬁww
afera

¥ A ]
a, HANT“ b..

' G {Hﬁﬂ'm d. YARE
e. itFd
3 R el 3 @ Gaifow Iug I TH:
(A) Faeb,d3Re (B) Faetc 3t d
: ©@ Faea, 3l @5 Fadadfib
S (E) rgafta ¥
OPQX1Z] g b

14 .. Which of the following is truc_about CARI
PRIYA? .
.. Choose the most appropriate answer from the
options given below:
(A) Commercial Broiler Chicken

(B) Dual Purposc Chicken
Commercially Brown Egg Laying Chicken

)
(D) Commercially White Egg Laying Chicken
() Question not attempted
ﬁnﬁfmﬁﬂaﬁﬂ-mm &0 firam & e wd

&
Wﬁﬁﬁﬁ%mmmgﬁ{
) aiforfeares sirrere gfitat

(B) Aey e areh yfitat
©) 3 sﬁaﬁ%ﬁaﬁﬂgﬁﬂf
aiforfares WG 378 3 Al gffat

Which of the following pair of poultry bird and *

its characteristic is correctly matched?
¢ most appropriate answer from the

15

Choose th

options given below:

(A) CARI DEBENDRA - Commercial White
; Egg Laying Chicken

(B) CARIPRIYA -Dual Purpose Chicken

(C) CARISONALI- Commercial Brown Egg

Laying Chicken
(D) CARIBRO VISHAL - Dual Purpose
Chicken
(E) Question not attempted . :
a1 & o A T feet
1 Sigr qel gAterd ]
- T
Frefeifa freredi § 8 @IS,
RPTE D

@ 0 fr. aRRET T
,/(e)- a;ﬁmgﬁ-arﬁrﬁﬁ‘ﬂﬁaﬁﬂ‘
(D) s et - g

(E) orai ¥ (Co ntdes
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; than) 15 # 2
16  Which of the following pair of poultry bird and

18 Vijaya Stambh (Chittorgarh, RaJ2S
. its characteristics is not correctly matched? storied pillar made of: : wél' from the
‘ ' Choose the most appropriate 805
" Choose the most appropriate answer’ from the
: _ . options given below: i rble
options given below: ~ (A) Red Sandstone and White I\:atone
(A) CARI SHYAMA - Improved Indigenous (B) Red Marble and White Sands
Fowl ok (C) Only Black Stone
(B) UPKARI - Improved Indigenous Fow] ()1 Only eles
3 (E) , Question not attempte TETT)
(C) HITCARI - Improved Indigenous Fowl 9 Tifsrer ey fe w9 (FriteTe,
- (D) CARIBRO MRITYUNJAY - For hot and forad s &2 s
humid region - Frffas Rt 74 7 Sk ‘m“’ R
(E ti t att d : (A) TRy
) Quesilon not attempte ‘ BT T GO S R AT e
Trrfafea & & fore S vaft ofv soehl Rdwar (C) Tt HTelT Teut
SIS =1 et v et fove e 20 (D) ST T Wt
Pt foredt %3 warffies s smg: (B) Srgafe s
(A) %ﬁm-@-‘lﬁ'%ﬁm@ﬁ 19 In which month the festival of Gangaur 1S
/EB) m-mmﬁlﬁ organized?
- i  Choose the most appropriate answer from the
© B I li_l!‘%:’ﬁrg’ﬁ ~ options given below:
(D) ;_‘Fnﬁaﬁtmi SEERTLY (A) Falgun (B) Chaitra
®) -sarawy b (C) Baisskh (D) Shravan
; _‘;'; 1 (E) Question not attempted
o . i+ ) TR & wET TS R T Sty 29
17 - Which of the ollo_}yx'ng is a grazier/shepherd of ‘ ﬁqﬁ*‘f@ﬂﬁﬂw_vﬁﬁﬁmﬁ - T
Balestian?* Sl ®) TR A8 W
Choose the most'iipf:ropriate answer from the (©) @ (D) T
options given beld@";' E) R ;
(A) Gaddi b9, ;f 7 2_0 4:: ::mber -of vbeiled women dancerg balance up to
i, N Or nine brass pots on thej .
(B) Dhangars 0 ¢ ; form is called: ‘eu.' head. This dance
(€) Raikas &5, Choose the most approprigse answer f,
(D) Gujjar Bakan-,,,-a,g‘-.‘. _ i options given below: _ me the
(E) Question not attempted - .- - - (g) Ghoomar. (B) Kalbelia
- Frfaftaa # & wF-a1 Toerm w1 wEmEr R 4 Terah'Tah (D) Bhawy;
S 3d (E) Q_uesuon not attempted |
Tt fomed mﬁ?m. IUGH IW G agatﬁvgxzmﬁtﬁ%a@mﬁt Wy
(A) ™ a:mug%ﬂt@mammmﬁﬁ ey
;,(ej A ﬁmﬁiﬁmﬁmﬁﬁm%
/ i (A) . T B) - Frerifary TR
(D) TSR (C) . W aTH ) vy
(E) awaaﬁam ol o (E) STafaws et
OPQX12] ' 5 |
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Which dance is performed by the Bheels in

Mewar?
Choose the most qppropriate answer . from the
options given belowW:™
(A) Gavri Dancem (B) Kalbeliya Dance
(C) Bhawai Danc®) (D) Ghoomar Dance
(E) Question not'ﬁ'dem‘pted
e i sfert 2T e a1 Rt P ST €2
ﬁmﬁ-iﬁa?rﬁmaﬁﬁﬁmfﬁa?wg?ﬁmgi:
Tl T (B) hRIerferal
~(© v @) T
- €) ST .
™
22  Where is the "Iﬁ\pum Sundari Temple’ in
Rajasthan located? (g ..

. Choose the most dppropriate answer from.the

. options given below:
(A) Banswara (v) (B) Churu
[~ (D) Bikaner

.(C) Sikar
(E) Question not‘%?jtempted
“Frqr gl /i TR B el fburd 82
fafafad ﬁmﬁ FatfaE Iag® ST
AR TR O B TE i
(C) Ha ()
(B) IO 5 ()
[‘n-
23  Gogaji's (a folk dc‘ﬂ;’; in Rajasthan) father’s name
was: (o))
Choose the most "'Fzzpropriatc answer i‘r?m fhe
options given below) g ) - '
Singh™

(A) Bachchal Singh (B) Zewar
(C) Arjan Singhpr) (D) Surjan Singh

(E) Question nol Attempted
ATt (eEdH | ﬁ St 2aan) F foarsit @ T

oIr: h

frefefae faaedl & gatfira 3ugem IWH:

) TeafiE o B) TR
iRl . (D) oA fdE

(E) i@ wa

0PQX12] 3

24

“options given below: vy
QYT T FHEIT a‘mf"}m Fqort T
m',%mhﬂﬂaamﬁaﬁtﬁmzﬁm
) i (Rrawrt 2024 F ﬁ%ﬁaﬁ%?
. P Rt § & et 39gw ST
" T8 B) T22
© Tl (D) f’?z
(E) Question not attempted&jﬂgﬁﬁﬁ A
‘ (4] g

25 ATAL Sewa Center ar¢ locatg!‘
A e

%6) ' The Toll free “Teleph

- The cost of food thali for poor and needy under
*Shree Annapurna Rasoi -Yojana’, a welfare
scheme of Rajasthan (as on Séptémber, 2024) is :
Choosc the most appraprfa!&“énswer from the

{\in Rajasthan in/
at: ‘;. o
Choose the most ap;:j-gpria!":'énswqj_.from the

- options given below: &

(A) The capital of R‘étj.asthap;
(B) - All major cities of Rajasthan
(C) The Gram Paﬁéj;;yat l%%l

D) Al the_:courts.?i;;; 5
, - Question not at;é_g)ptedr“l AN
frfrfaa et ﬁﬁg’a‘fﬁﬂ?wgﬁm;ﬁ

(A) TS < TSI ,.‘,.;i X
(B) nawm%mﬁg?@mgﬁ(g

' ;""::"»‘.'r "'*\‘
/fg S -,

" £ o h]
@ aghew [
Y A . ‘.- - "g"‘!? : («‘

3
jone n(;mber for ‘Child

* Helpline’ is: ‘
Choose the most appropriat«i
options given below:

s RewaT & ¢ ﬁgg}ﬁ )

-

e
mj%ﬁmﬁa%@m@
Ay 1090 ®) 1095 -
© 112 _(Dy 1098 :
(E) Question not attempted / :ﬂaﬂﬂﬁ L

| " [Contd...

,?_nswer from the

(@ Scanned with OKEN Scanner
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Which Festival of Rajasthan is celebrated on 14
January, on the day of Mnknrsankran.t'f, every
yer? oy
Choose the most appropriate answer from the
options given below:

(A)
)
(©)
(D)
(1) Question not attempted

e 3 ufir ad 14 e, et &
ST A RVer = T e

frffa forredi 3 & mﬁimmmaﬁ

/(')/tr'vra?{m

3) WIa

©) S
(D) TS
(1) arg?rh'«mexu.

Kite Festival
Colour Festival
Ballon Festival

Rose Festival

CAZRI, a rcsc.\rch msulutc in Rajasthan, is
working on the i |asuc of ;

Choose the most nppro;;ria!c answer from the
options given bclow:‘ g V
(A)
(B)
€)
(D)
(%)
T (CAZRI), TSI H T 79 e fomm
oy ot ot o e @2

et faedt # & watfas sugw sw T

Arid ccosyslétxt_ ’

Space research :
Camel rescarch
Industrial rescarch -

< X1,
‘

Question not attemptcd

Ry et @

(B)  fafear giva/sTgEuT

(C) S gHuH
(D) irNfies sgEa

(B) o1gufa war

orQ-xi2| gagg

29

31

L ®
30

ted
" Choose a major issue which has alway® nf_fcc
the agricultural development of Rajasthan g
Choose the most appropriate answer {1
options given below:
(A) Unpredictable and irregula
(B) Scarcity of metals and minerals
(C) Insufficient land for agriculture
(D) Lack of interest by entreprenct!
Rajasthan
(E) Question not attempted .
Pt 5 8 0 s 5 7 < SRR
e i i farer 1 e i ﬁn"‘" e—
Somrrfa el i & warfires 39 S LT
AT srctina siv s
(B) g 3K @it i At
© Eﬁt%fr«m; areain fH
(D) T ¥ it i v o HHt
et ¥

With which occasion is the Kachchhi Ghodi
dance associated? '
Choose the most appropriate answer from the
" options given below:
(A) Teej (B)
(C) Holi (D) Navratra
(E) Question not attempted :
. ot Argt 9 fong s A weftra 7. A
ﬁw%f@aﬁﬂﬁﬁmffﬁa;mmaﬁ
L) @ ®) frare
Oy (D) e
() rgaf@ys

On which occasion do women of Rajasthan \ve-'g
“Lahanya Bhaant Ki Odhni?” ]

the

r miﬂfﬂ“

rs of

Marriage

i 'Choose the most appropriate answer from th
c

opuons given below:
Holi

(A) (B)  Teej

(C) Diwali (D)  Birthofy chilg

(E)  Question not attempted

TR 21 G T TR R iy iy

G TEdr 82 il
fr=fafaa et # & m#fbm?mm-

(A) ®relt T ;
©) et D) RSy

(B) Sgafays ’

I Cﬁntd':
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32
ulc:}nsmunents dhol or drum used?
Choase) the most appropriate answer from the
qptloﬁggn en below:
(A) I andiya Dance
(B) CHachchhi Ghodi Dance
(©) ani Dance
(D) Ghudla Dance
(B) (;uesuon not attempted
TErE! iR FaH & 5 e g A e g
AT e T 2
ﬁﬁﬁﬁ@m’i&wmmai
(A) fsr%znm
Cfdi et 1
© ST
(D) FEETA ,
(E) OFFaf@ws *
r\
(o0
33 A shopkeeper purchases some apples-at 41 for
4 106’1{0“ many apples for T 60 should be sold
"jev to uatn\l&" o?
‘,;\," @a@qm—‘nmﬁa? 100 F 41 F ¥ § TR
) %% T T 5 A 30 T GOWW’QHQH%
o TR =
- 4\ - W 2 ®B) 13 &
f\'; ©) CG4 D) 15 L
:‘i{: WA ,‘( (E) uestion not :mempted / m'aftﬁ b'e
1"5 \'7\ H ;
/2{"" On €lling an article for ¥ 230, a shopkeeper
“’ / 6 eam$3 profit of 15%. What is his profit or loss
t/v a ¥ percentage if he sells the same article for ¥ 210?
/'f' 2 (A) ?"o profit (B) 7% loss
9. '(C) ojo% profit (D) 2%loss
w (E) (vQuestion not attempted
xl{f.'., T deg 1 T 230?33’1‘!(@2?::.’21(15%:51
“r ¢ﬁm?lm%lﬂﬁaﬁm3¥§mt 210 F¥Tar R,
vy 4\ T T BT Wi /82
5% @Y (B) 7% W
w,\ (C) 10%® (D) 2% JFEW
(E) guieE wy
OPQ-X12] 8

e — - g

e b e e AN

In which folk dance of Shekhawati and Kuchaman

|37

35 A shopkeeper gives a discount of 8% to his cus{ 3¢
tomers and still gains©20%. What is the markeﬁr '
. price of the article whfs¢ cost price is < 460?
@mqmm@mmﬁqﬁwﬁfﬁm '
ot 20% T T FAAWTE a5 F1 3FFEd [ 91 '
2 forant 50 T T 460
(A) T 600 %r % 660
(C) T580 - ) Ts550
(E) Question not attempted / :ﬂiﬂfﬁ' 97
m |
36 Who among the folloying is the first | ‘aralympi-
an to win two Paralynfjiic Gold Medals? .
Choose the most appropriate answer from the 4
options given below: '
(A) Sumit Antil '
+ (B) Nitesh Kumar O
‘ (C) Devendra Jhajharia > A
(D) Harvinder Singh (
(E) Question nol atpf?npted (
P a e T 3 ygell 9% &1 &0
Sy e i UG R E |
(A) gfa sifae | ""'B) o AR : !
S T c.(P) a6
) Sﬁﬁﬁ?ﬂﬁf .
Shri Ra])mardhan Siﬂ'gh Rathore, sportsperson '
turned politician, excelled in which sport at /J
Olympic level? {
Choose the most dj‘rgf»priare answer from the
options given below? | 40
(A) LongJump N
(B) Volleyball - ©
i".'(C) .Shooting
(D) Hockey ™
(E) Question not agempted
it e fig U el § TSI W,
-8 e el g W S s et &2
Frsfarfia et § § AT I9g® L
(A) wdrsam (N
(B) didrEicd o f;
et (e (
(D) &= (
(E) 3rgafa | ore-
| Contd
 ve—re——
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38  Who among the following was the first Governor | 41 When 36 is ndded to 6% of n numbef« SR ’l"af’ »
of Rajasthan? same number, ‘Then that number i%: Ho1 w1
Choose the mosf dppropriate answer from the a1t faraft atezt 35 v 3 36 191 A BT e o
~ options given be{gy: ’ hen v vl B 1y e whozn B t"" ‘,/4‘
(A)  Shri Gurufilkh Nihal Singh (A) 75 1) H0 m % L&
~ (B) Raj Pramukh Sawai Shri Man Singh ) l""o‘ v i’
"(©) Dr. Sémp\ﬁ’h‘amz'l.nd /:E) Question not attempted / “"Td kg 1—;’9., ¢
(D) Sardar Sh.rlc'?{ukum Singh L ‘o an ’V
(E) Question not aitemptcd 42 - A student has to score 407 marks 10 pass in ;m _
R g g n{,‘-&ﬂ%mmmﬁ? examination. He gets 30 marks ¢ dm’ failed by o
mwammw marks. What arc the maxlrnumfr;:}_}“"k” i
A) oft .rf examination?
EB; Wﬁéﬁgﬁmm ';Cﬁ\ Ledveka bt giesivRacior f‘iqﬂ% *“;:;
ey g,wmﬁq@ o mﬁ?nwaomﬁmﬁdnwzgw’m -4
o waﬂgﬁnﬁm\ \ 1<t &, a wlian i aferran <% A0 ¥ = /:44.‘/
(E) ma&ang.' ?“ A el £ I(mm = /’/'f{
/(,a 125 () 140
39 ind a single dgc::'ount equ‘:\\/alent to successive J LI SR e ghston wd/q(?]fmga
e °“°m°% and. 2% ‘ 4 43 Select the folk dance of Rajasttn which s
0%, o%aﬂrx@ﬁﬁﬁmm%wm@w opular for cntcrtainmcnt’ andé\r%' ing ial
ity O W T -p-" W PP '
: » 1ssues. ?
(A) 55% ﬁB) 4% - xv" "Choose the most approﬁriate answer from the
46% M O 48% @1?’ options given below: M
S o b ‘
(E) Question ngyattempted / s ys .(A) Kathputli dance g
| gg (B) Giddha m
40  The price of a e_g{nmodity decreased by 10% (C) " Kuchipudi ?'l .
which enabled a(shopkeeper to purchase 8 kg (D) Garba o
more of it for Rsc.3.5600. Find the reduced price (E)  Question not attempted o
per kg of the commodity. TSIEA1H & 39 Al TT F 997 ?ﬁlf?o
foelt weg 6 Fmg & 10% A T N W, @ aﬁtmﬁmgamamzsfauufgw,» o
VIR 3W e 4776 fora afires =0T # X 3600 3 ”ﬁi{wﬁf‘mwm .
@t H Fra grw € 3 a8 AR /E’ %ﬁgwﬁ ™ b ;
Tﬁ#ﬁ‘iﬁﬁrﬁmﬂ (o))
/?so ‘N ®) ?48){,\#&‘ ) W ~
© R4s O (p) T2 % 9 )ﬂ"‘d D) T g '
(E) Quesnon not attempledlaﬂﬂfmuﬂ “} (E) ruf@wy
OPQ-X12 ' ‘A }#Wj
Q ] * . 7{ | Congy

/5

ey

Q@ sc
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44 While reciting the Phad of Pabuji, n musical | 47 ., On compound interest a certain sum increases
instrument isused called___, 10.25% in 2 years. The rate of interest per ann
Choose the most appropriate answer from the \m e ]

‘ Ioptmns given below: L PR o W&W o aa fAfera fir 2 79t  10.25%
(A)  Jantar (B) Moochang ™\~ \\;{'Qb el &1 iy ad wrer et g
_(© Rovanhaha - (D) Bk VSR Ay % 59
(E)  Question not attempted’ - L (© 6% " (D). 8%
Tl % WIS M WY, R are @ @y fRr | S of (B) Question not attempted / STRI@ TS
AR TC_ el e AR .
ﬂ%ﬁqmﬁaﬁq‘rﬁﬁwﬁmmg& 48  The monthly incomes of A and B are in the ratio
(A) (B) am 4:3 and their monthly expenses are in the ratio
y: RIEL R (D) TEHarr 3:2. If each saves ¥ 800 per month, then what is
(E) rgaiaws the sum of their monthly incomes?
| A SR B o i 3T 7 S 4:3 & R I
45  RIICO has set up a Japanese zone in an industrial it @ JUM 3:2 21 afe & =afn T 800
park in: .srﬁmmaam% A TR T 3T T AT T /Y
Choose the most appropriate answer from the 5 (A) < 48,000 < 56,000
options given below: ;" “ "_""}; (C) Z 84,000 @) T 96,000
(A) Mount Abu 3y Neemrana \._v po,/‘ (E) Question not attempted/:ﬂj?lﬁﬁ g
(©) Jodhpur. (D) Dholpur Wl iU
(E) QUESHOH not attempted A A9 Which of the following is not a reason for water
! W(MICO)%@M@H@‘D i | #ee scarcity?
Tk o T ﬁF?IT‘?-I . Choose the most approprmte answer from the
Freafirfiaa foeredt 3 & watfas STTw SN L g off  options given below:
(A) HIS< A T i ‘_/)) (A) Rise in population
2(0) Gﬁ‘tl'gl‘ (D) zﬁag( W% (B) Deforestation ‘
E Wﬁﬂgg ’ (C) Space research
Nt ‘%/”’ (D) Global warming
. oo A ‘
46  What is the compound interest on ¥ 15,625 fof 9 (E) Question not attempted
months at 1 6% per annum compounded quarterly? Py 8 i ST o 1 T T 82
* o ggffi‘m; I G
L,\L"u\ T 15,625 T 16% Ffaad it & femret an 7 freferfaa freedi 4 € g I
"’ic e B are Swd e ST 9 AT & ferg fear (A) e A
A - .
o o f dm 36 [Tam wEE oo
: I ) ~.
\? TN L{(A) ’(135| (B) T1941 - y i AT SrbAg
1 961’ (D) A F@ IR
\%‘W 1951 () T 1961 " _‘ij (D) .,B\\ 1
yE Question not atlcmptcdé_aj%ﬂﬂﬂgﬂ 3% (E})” 5 qfﬂ ’ -{-:, C ntd
~5 b 0 0 vee
A_QJ—@ e, - -’ w 33

i\ﬂ"

52 .
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50  Support money for big cattle (big govansh) under,
 cattle majntained in cow shelters registered by
the state fovernment is enhanced from October
2024 as- |
Choose the,most appropriate answer from the
options given below:
A 4'4!day (B) 3 54/day
( T 62/a (D) T 68/day °
Questlon not attempted .- ‘
mm;m EEiETRINIEIE irwrﬁarham%
aﬂﬂqﬁmzomﬁﬁﬂwq&ﬁmﬁ%
Rl e & eraifires v s g
(A) ?g'rﬁq . B) Tsafm

/Fz)/?ﬁzrﬁw . O TesMm
agﬂﬁaw

51 Which of the following regions of Rajasthan
~ shares its boundary with Pakistan? ,
Choose the most appropriate answer from theé
options gwen below:
(A) Blkaner (B) Pali :
(O Churu (D) Bhilwara
(E) Quesuon not attempted
Frefofad § woa @ S-ar 8 trrﬁman %
o m;@mﬁﬂ
ﬁﬂﬁf@aﬁmﬁﬁwﬂammgﬁ
w’ Cicanty (B) et
€ =&~ (D) fiearer

52 . Which of‘the following regions is located in the
southem(r;x{ost part of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Churu (B) Banswara
(C) Ajmier (D) Rajsamzmd
(E) Questmn not attempted
ﬁqﬁﬂﬁﬁﬁaﬁ?—m &7 TSR & g afoft sy
ﬁﬁnra%')
ﬁqfﬁ@ﬁﬁmﬁﬁmﬁﬁwwgmmtﬁ
@ & AB] e
(©) st (D) TEHE
(B)  rqafe w

OPQ-xu] e

11

cultivation practice iﬂwir life?

w
ikas follo
In which of the following seasons &

from the
Choose the most afptopriate answer :
options given belowggy
A) Monsoon ¥
(A) =

(B) Summer o

. (C) Winter
= (D) Throughbut tl}wcar

(E) Question not fttempted

| maﬁaﬁmﬁﬁﬁwﬁiﬁﬁﬁﬂﬁmﬂﬁ.
L Fa®
ﬁnﬁﬁaﬁmaﬂwmmm?
(A wEEE ) ',O
®) = ’
(C) wdi '.‘;1
v, [o;
(E) ATE@IT o
: Cﬂ
i

Banjaras, a well-knogn group of graziers were
found in the v111age@f !

Choose the most approprmre answer from the
options given below?¥)

(A) Rajasthan zmalttar Pradesh

rd
(B) Assam and Ndgaland et .
(C) Goaand Mal}&élshtra : | . \‘
(D) Karnataka an‘t-i\okerala ! _-"* .
(E) Question not attempte'dé;: ) 2
ST .

"‘ X “4»\":‘ -" ' r
A e

(@ Scanned with OKEN Scanner



56

55  Pastoraliste/shepherds primarily depend on which

of the following activities for their livelihood?
Choose the most appropriate answer from the
options given below: ;
(A)
(B)
©
(D) Fishing o

‘ (E) Question not attempted

Yo Tete @Qedw) ERT ® S
s ¥ forg frefRe § 3 g o Pl
w® ’
freffr Rt i & wa i S9gw ST
(\) TN o

@) SrfwEd e

Agriculture
Industrial work
Animal Husbandry

PR S

(D) WS IEHSA
(B) STIRa WA

When a ray of light incidents normally on a plane
mirror, the angle of reflection is - '

Choose the most appropriate answer from the
options given below:
Aa) ©0°
(B) Greater than 0° but less than 90°
©).
: (D) Greater than 90°
(E) Qu&é'sti‘_c.m not attempted
e o S O ST S foRROT e At
et & A T ] A E-
Frerferfiae foraredi 7 & WO IUg S0 H:
0° § ‘

900

e rcasfEwg 90° AW

(C) 90°
(D) 90° & 3w
(B) rguiawd

OPQ-X12 ] B

12

Tm
ﬁnﬁfﬁaﬁﬁaﬁﬁﬁﬂwﬁwmmmgﬁ:
@A) 30° /.ﬂn/ 60° '~
© 90° (D) 120°

Twa plane mirrors meet at right angles. A light

59

ry is incident on one mirror at an angle of 300,
What will. be the angle of reflection from the
sccond plane mirror? :
Choose the most appropriate answer from the

options given below:

2 et 2dor T gEe A wwn o e ¥
T Y FaRoT g gdur 9@ 30° ZhYoT T Tafera Bt
%liﬁmmﬁmmﬁwmmmm _

(E) Question not attempted /Nﬂﬂﬁﬂ "

Match List=1 with List-II:

List-I List-1I
Shape Type
a. 0 L. Convex mirror
b. ) II. Concave lens
[ ( III. Convexlens
d. ) IV. Concave mifror
agelt-1 3w -1 = R
TEt-1 FE-11
T TR
20 Lo Sudg
b. )(\ I Edd o
c. ( \ . SAAEw
d. ) V. a9

Choose the most appropriate answer from the

options given below:

Y R e Feeed 8 oS J9gH I T
(A) a-ll.b-lll.c°l\’.d-l
a-1Lb- el d=1
©) n-lV.b-I.C-Il.d-IlI
(D) n-lll,h-“.C-l.d-IV
(E) Question not attempted / 3TARA ¥

[ Contd...
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89 Animals which lny eggs nre called:

Chovse the maoxe appropriate answer from (he
options given below:

LI}
b )

(A Viviparous nnimals
(M) Oviparous antmnly K
(@) Ovoviparous animals
() aviwo tertilised animals
() Question not nftempted
A Y st ) ey g
Fe Ry e} W wrartferes guge T
(A) mnﬂmrmslg
(B3 vy Sty
(C)  STEII Sit

DYk sty

. (1) vl s 3

60 ldentify the oviparous animal,

(A)  Butierfly (B) Cow .
(€) Dog (D) Human beings
(E)  Question not attempted
TSI S i ywrar

a7 et B) T
(©). g (D) e
(B)  srqafmay

61  Govardhan Asrani, popularly known as ‘Asrani’

is famous as a:

Choose the most appropriate answer from the
options ;,wc.n below:

(A) Muw. Director (B)  Politician

(C) Actor (D)  Player

(I5) é)ucsliun_nol attempted .

fﬁmhsnnmﬁtfm'amﬁﬂ'mﬁfm‘é.aﬂ

ufaz B

Farafefire fararet e e e <

Ay wihafdms 1) usfw
s (D) feemd

(B) ergafawy

0rQ-x12 | %

62

63

13

: vie
T . which st
he Late Jagjit Singh was famous for

of singing? he
from t
Clmmc the, most appropriate answer

options given below:

(A) Soprano :
(B) Western style singing
(C) Tenore
(D) Ghazals

E uestion not attempted x
;r?zﬁgmﬁaﬁgﬁmmiinm%ﬁﬂmg?
ﬁﬁ%@ﬂéﬁﬁﬁmwﬁm T
(A) whmwr
(B)  ftrdt Sefi e
(C) &

e

(E) gafawg

- Who among the following famous Rajasthani .

actor played very important role in Nétional
Award wining film “Paan Singh Tomar™?

. "

Choose the most appropriate answer from the
options given below:

(A)
(B)
©).
“(D) |
(E)  Question not attempted -
ﬁn?at‘@aﬁ%ﬁmmwwm
mﬁmﬁaﬁn ﬁraa‘m--

: ﬁwﬁwwm T L
g “Emamgi
(B) AT yrwr oveht @y

mm
(D) i 7y
(E)  Srefa w

Karamveer Choudhary
Sahabjade Irfan Alj Khan :
Goverdhan Asrani

.Kiku Sharda

[ Conyg,

@ sc

Nﬁﬁm%n@q :
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65

~interest for 3 years.

P ~(E_)

SN AN
According to Mmcral production in Rajasthan
during 2023-24, Rajasthan is the main mincral

In how many years a certain sum of money will
become four timesSF itself on simple interest at a
rate of 20% per anhum? |

(A) 10Years vy (B) 12 Years

(C) 15Years O) (D) 20 Years

(E) Question noTIf!tcmptcd

far @i A @ ﬁf‘&?}r TETRT 20% T
ISR RS LRI e CikaR i

@ 10T B) 1234

,(_C)‘ 15 m (D) 20a¥

(c) aagaﬁaw

A sum of T 15,66(\ is invested on compound
. 1 the rate of interest for three
successive years are10%, 8% and 5% per annum
respectively, then &hat will it amount to?

T 15,000 ¥ vy 3 76T % fow wwafe =9 W
i & sl &1 3fE SR 3 a6 & o s
FAM: 10%, 8% aﬁ%% wfvad &, it e et =g
muﬁrmﬁfﬂ" ;

18,000 (1’) (B) 18,582

(2)(?
T18,711 O (D) T18920

Question n? attcmpted / AT T

producer in the co‘nntry for:
Choose the most[appropriate answer from the

options given beldW?

(A) Leadand 2{5? Ore

(B) Vermiculite—

(C) Sillimanite (N

(D) Diamond &

(E) Question not attempted

@ﬁa I 2023-24 F AR i
™ O ot e e

ﬁﬁmﬁm’frﬁﬁwmmaﬁ
(A) tﬁmaﬂtaﬁf‘ A
®) @z S wt

© o , N
(D) EEHE/RT

(E) aﬁaﬂanﬂ

14

. oroxi2] g

R S )|

7 "’ Bhilwaracity of Rajasthan is known for
_—

68

‘%l

qufer: fanrea &: g
W) 10169, (B)mlosoo ot
© Vo, prmons,
(E) Question not attemp[er! / eﬁﬂﬁﬁ oy
¥

Choose the most approprigte. answer from |
0

)

Gold and Silver prodattion

C t Indust {
cment Industry by

City of textiles and looms

options given below:

(A)
+(B).

©)

(D)
(E) Question not attempted,

Eo1 e ™ Ffauwsmram
TSTET T Hierarst feg ‘
(Yl ‘
' e ﬁmaﬁﬁﬁaafﬁmmmg:r |
@A) ﬁvfaﬂtaﬁ%mmaq =
(B) Hire I =

TE 3R T AT T
(D) Hiar 3t S S ()
® omaawm Lo
(")

: : (Fl ' oL
What is the smallest five :%n number which is

exactly divisible by 16, 20 anU 247
mmﬁwﬁe’lﬁa@ra‘r 16, 20 31"#(24&

Lead and Zinc production

: : .
Determine the maximum possible length of the

planks that can be cut from three pieces of timbef

'mcasluring 4.2 m, 4.9 mand 6.3 m, all of which

should be of equal length. .

a@hﬁmﬁrmwwmﬁﬁm::ﬁ

4.2 wft, 4.9 7, 3 6.3 :ﬁaﬁfﬂm%aﬁwg@aﬁ

e T 3 e e & i

(A) 42cm@dh)  (B) (zS6cm @)

© 6em@d (D) 70cm @

(E)  Question not attempted / Al 9 :
[Contd o
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0P

/ﬁ"/c a’«fmangwb
"‘)

L'1.72

How many numbers from 450 to 600 are exactly
divisible by 12, 15 and 207

(A)  Four (B)  Three
t (C) Two (D) One
\tl_,\ (E)  Question not attempted
o2 450 600 7 R dwad 12, 15 i mﬁ!{gh:
O R
o 22X i\ “'
Wt T TR /m e L /
o) & D) T "1 x
1 (B) i i.« Y
71. Two years ago, the average age of A, B and C
was 24 years. 7 years ago, the average age of B
and C was 25 years. What is the present age off A?
(A) 16 years (B) 20 years
(©) 24 years (D) 14 years
\ (E)  Question not attempted
AT A, BTIC F afver o1y 24 7 oft 7
'Fc\‘» T west B 3l C f it o 25 wf o A

V(ﬂﬁomf .

(D) 14T

16 9%
2498
ST e

Which of the following type of animal is

G
©)
(E)

L

suggested minimum floor space for housing
purpose?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)

Heifers

Down Calvers

Adult Cows

(D) Adult Buffaloes

(E)  Question not attempted

Frerferftar v & fermer wemme 3 oy 3 R svmama wivem

o T e T B g e ma
ﬁmﬁﬁaﬁmﬁﬁﬂuﬁfﬁmmwgﬁ

‘/(‘U(@%W%(%mm 1, "

L('

N

A
(C) ==
(D) =ue g

(E) Naﬂﬂaw
OorQ-xiz| $

r
Y 4"’

\‘1 )7

}

15

7

74

75

ontains
Which of the following animal product €

the highest amount (% nutrients) of P'owin?

Choose the most appropriate answer from

options given below:

(A) Milk(Cow) (B) Egs

(C) Fish (D) Moeat

()  Question not attempted

PR i 2 e gy e it st o AR
HTAT (% O ) Bl 7

PR Rt f @ wrrtfars guge o0 37+

(A) g () (B) st

© woet oy wtache)

(B) orgafaws

the

Which of the following animal product contains
the highest amount (% of nutrients) of fat?

Choose the most appropriate answer from the
options given below:

(A) Fish (B) Milk (Cow)

(C) Tgg (D) Meat

(E)  Question not attempted

Freflem & ¥ Rrw ay) 3em= 3 aar 6 watfos
T (% SR e Bt &7
ﬁmﬁﬁmﬁwﬁﬁﬁm@wmmgﬁ;
(A) Wl (B) _3u(emy

(C) o= wha (e

(C) orgaf@ws '

Who among the following is éi‘vcn the
taking Kishangarh style of painting to
Choose the most appropriage
options given below:
(A) Mool Chand

credit for

1S Zenithy
answer from the

(B) Chnndan Singh

(C) UdaySingh (D) Nihg Chang

(E)  Question not attempted

formrg frvre et 7Y Sk g o

o v e 32 Py fer e “'@'“ﬁ
ﬁﬂi’ﬁfhﬂﬁmrq’tﬁﬁmﬂkm

(A) EOR (B) f%rg 3}
(© v fite f

(B) rgefe wu

28 ['Contd
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77

OPQ-X12] 33

Who has written ‘Baataan Ri Phulwari’
(Collection of Rajasthan folk tales) ~
Ch()o?p, the most appropriate answer from the
optiohis"given below:
€0
(A) (8priLal
(B) :‘&alchand Tiwari
(C) (Mijaydan Detha

(D) Laxmi Kumari

(%uestlon not attempted
ararl‘& gﬁ'al'l'ﬂ (T A # EE)
mﬁ‘;ﬂﬂ%@*ﬂé%‘?
ﬁw%%aﬁmﬁamﬁaammgi
(A) gﬁm

(B) Wre== foamrt

fitn
(D) et o

(E) ?‘%ﬁﬂﬂw

“h
|
Nanié'the animal who breathes through its skin:
L
Choose the most appropriate answer from the
options given below:
N
(A) [-Monkey
B) :?gar_thwoun
(C) (EBlephant
@ (Gamel
(E) (Question not attempted
I i) T AT AR S A T & e erar 81

Py e 3 wartfrer s v
g

(A)
/9’*3;3:'“/

© rBFﬁ
o) {¥e
o)

(B) argafa w4

S

16

78

79

. options given below: o
Investigation of camel sample for. %

©

" According to the National Research Centre for
Camels, in the camel health and management -

calendar, which of the following activities is

proposed for the month of August?

Choose the most appropriate answe? from the

L
(A)
"+ endoparasites trypanosome.
Vaccination and medication for killing
_ endoparasites. N
" Soil management of shefters and
numbering of camels for identification.
Hair trimming, vaccination anq.}spray of
chemicals. .
(E) Quest:on not attempted
TG S STHU &5 o AIAT, Sz e i
e Shctet i ST W ¥ R frafafaa & @
PR T Ra A
frefafiaa frered § § waifirs IUgw I ;|
(A) ﬁﬁﬂ@qmm%mm%q@ﬁ.

(B) mwﬁﬁa‘fm’rmﬁ%ﬁ‘—mzﬁmaﬂr
© mﬁﬁwwaﬁmﬁ%mm}m

amvr mawra‘aﬁrmmﬁaarﬁsﬁm
et v o

(B)

.

D)

o~

a-.l-

' . S
Which of the following are the intemnal parasites
in farm animals? ‘

a. Round-worms b. Fleas ™

c. Tapeworm d. Mites p-

e.  Coccidia @

Choose the most appropriate answet from the

options given below: sy

(A) b,canddonly (B) ab and ﬂ only

(C) candeonly (D) ac¢ and & ¢ only

(E) Question not attempted

Frfafaa 3@ 2R e} siggatt 2 SRR W

& W

A LA .

c.  HIHN d. frert ()

e... e N
e R e e 3 41 JqgEH I
“(A) e, c ol d B Faea, B

(C). FaetcIiNe (D) FacTa, ¢ e

(E) vgafe w4 -

' [ Contd...
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80 ' The hormone that regulates the blood sugar level

in our body is:
(A)  Adrenalin - (B) Insulin
(C) Thyroxin (D) Tcstostcron
(E) - Question not attempted
TR TR T w3 T F%?m A qTe
AR -
A) Hfm 3=§Fa=1
© (o) .
(E) 3ruiaws -y
81  The examples of connective tissues are:.
a. . Blood b. Bonen

C. Epithelium d. Cardiac muscle

~ Choose the most appropriate al%?ver
options given below: Ch
(A) aandbonly (B) a bunic only

(©) abanddonly (D) b, c%d d only

(E) Question not attempted

IS Serent & JaTeor & -

a. Th b. m')
uftrefifera d. s

ﬁﬁqwﬁmﬁﬁmmmgﬁ

(A) aﬁ?faiiﬁtb (B) %rq'aaa,baﬁtc

Fae a, b3 d (D) %rq'at! c3itd
STTANE W D

82 What is the percentage of oxygen and carbon
% dioxide in air inhaled by a human being?

Choose the most appropriate a{;'s'ewer from the
options given below: o
(A) 16.4% and 4.4% respectivély)
(B)  4.4% and 16.4% respectivély
(©) 21%and 0.04% respectivc[y'::
(D)  0.04% and 21% respectivelyy

from the

)

(E)  Question not attempted
T ZT0 3 ot S arelt 4§ e s
FTE SrgaiiuTee w1 fewrd 741 SER?
ﬁ“'ﬁfﬁaﬂﬁmﬁﬁnﬁmmmgﬁ
(&) 16.4% 30T 4.4% m
v@?)m%‘-:m. 4.4% 3M164% (3
(©) wFmm: 21% 3 0.04%
(D) T 0.04% 37T 21% g
oo B argEia wa
OPQ.x15 ]

e

84

85

17

of Rﬂlasthan |
Chala Gaya’
jasthan?

Who travelled through the villages
and started his series ‘Mein Dekhtafaaj
based on the rural life and society ©

the
Choose the most appmprlatg éns“’e" from
options given below: rn
(A) ° Pt. Vishwa Mohan Bhatt+{
(B) Dr. P.K. Sethi o
G
(C) Jagjit Singh
(D) Karpur Chand Kulish
E) Question not attempted;¥}
1(%Fair TR ¥ TT7aT 6T WA ﬁ?m T Tm@g;:
arftor Sfie qar T 9T e 4
e mar ¥ fram m
ﬁﬁ%ﬁﬁﬁﬁ#a&f&wmmﬂi
(&) dferdeTwg Q
(B) N9 F A
(C) wefafiis
(D) 4L == pferer )
(B) Srgaf@yy -

o0
In 1949, who became the CHief Minister of the
Greater Union of Rajasthan? 0
Choose the most appropnar:’\auswer from the
optmns given below: e
(A) HiraLal Shastri (B) Shobha Ram
(C) Brij Bhushan (D) Sewa Ram
(E)  Question not attf:mpteclt ,

1949ﬁq3zmnw%3@waﬁqaaq

et s £
Nature of magnesium hydroxide is.
Choose the most appropriate , ansy

options given below: !“*- Wer from thé
(A) Acidic (B) BRSic
(C Salty (D) N‘mh‘n[
(E)  Question not nltemmed’\\ 9 o\ o
G 1 R
Frferfiaa iaﬂiﬁﬁﬂmﬁh 3"7(
@ gy e TR,
(C) vy D) TRy
(B) wrqefawy : -
[ Cong,
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86  The process of depositing a layer of zinc on iron'| 89 Which movement was led by Sadhu Sitara .'

is called: Das? |
(A) Crystallisation (B) Galvanisation Choose the most appropriate answer from the
(C) Rusting - (D) Neutralisation options give-n below: ;
(E)  Question not attempted (A) Bijolia (B) Shekhawati
MR RNE R @R e R s (C) Bhagat (D) Non-cooperation
"‘ﬁ\%ﬁl ' - (E)  Question not attempted
(A) fredfew (B) e Ty i 3 3 e sridtert e feram
EUEUL D) TeHER ﬁﬂ%ﬁﬂﬁaﬁﬁﬁﬂmﬁt}ammgﬁ
(E) ruRay e iR @) e
| ' (C) W[ (D) 3T@EanT
() e e '

87  Which of the following metal melts even when

kept i ing poi E, |
SPot SO U o T o 90  In which phase were Alwar, Dholpur, Bharatpur

Choose the most appropriate answer from the and Karauli merged into Greater Rajasthan?

options given below: - Choose the most approﬁriate answer from the

(A) Calcium (B) Gallium options given below:

(C) Magnesium (D) Mercury (A) Fifth ' (B) Second

(E) Question not attempted (C) Third (D) Fourth

frfafas o & S ug =% e eEE F (E) Question not attempted

T Bt 9T Ty q¢ ot e sl 2 ferer <or & Srera, HieTgy, sRaqe s el @ gee
frefafaa el § & waifire Jug® sw 9A: TTET § forera gom?

A) i @) e frafofian fawmed § & waifas Iugw I aH:
(C)  Bfifirm oz fuicaiy Jx{ o ®) fdft _

(E) 3rguia e (O © =gt

(E) 3TgaRa s

Which of the following is the most ductile metal?

/ Choose the most appropriate answer from the
\

f options given below:

(A) Copper (B) Aluminium .

91  Where is the Jawai Dam situated in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Pali (B) IJaipur
O [AS (C) Kota (D) Sikar
_(E) - Question not attempted .
f - firfiae iR (E) Question not attempted
2 ﬁqm&ﬂ T g 87 TeTedT 3 Sravd et @t fua &2
(A) (B) &gﬁlﬁ'ﬂ"l qrelt (B) srqg(
- \y‘ﬁ“ T wa (D) ¥t
(E) rgaia o L | (E) oTER@wH .
OPQ-X12] * ; 1‘8 [ Contd...
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Accordmg to the Cengis of 2011 whidh of the

Tollowing districts haghthe highest nopu!auon in
Rajasthan? 48

Choosc the most amm‘prmte answer from {he
options given below: oy

(A). Bikaner €(B) Sikar

(C) Jaipur “®)  Paii
(E) = Question not attempted .

2011 3t SFTIHT Imnn:r’q:ﬁqﬁg
E‘r?rﬁmwaa?ﬁﬁ{;ﬂ;v e

frafafas el & Saaits
(A) SR ‘Y]a)

[

mmﬂﬁ

e TR r(p)‘ﬂ?ﬁ

93

99 -

() rgaia " N

According to the census of 2011 which of the

following districts of Rajasthan had the lowest
rural sex ratio? f'*')

Choose, the most ap{ampﬂate answer from the"

options given belowm

(A) Pali CB)  Sikar

(©) Jalore E_jn) Dholpur

(E) Question not attempted
201|a?rmw%ﬁmmwé?ﬁnﬁr&m
ﬁamm%mnmmaww

ﬁq%%ﬁﬁamﬁﬁﬁmﬁ‘wmmgi
(A) it

)
(O, sk CLEB)/’W

,('3) S vy a

Where is the Ramsaga L_svrldhi‘ e sanctuary located

in Rajasthan?

+ Choose {he- most appropriate answcr from the

©)  Chun

Oplions given below: (v)

(A)  Bungj I(B) Dholpur

0"P) Ajmer
Questlon not agtempted
amqu wstedT # el feua &2

(E)

W IUGH I
: (A) 4
) ;:g L

()PQ

- (D) 3T
) gy
-X12 ] .

96

19

95 .

g ct
s pot corre
Which of the following slﬂ‘°m§—‘~’-!s 2

about the Palash forest in Ra_]n.%h}ﬂ'? 1 the

Choose the most appmprm!efiaswef from

options given below:

(A) These forests -are
where the surfac is ston§-and hard-

(ﬁ) These forests are found only in platead
region of Rajasthan.

(C) These forests are sprea(bn Alwar, Ajmer,

Sirohi, Udaipur, Pali ﬁ'ﬂd Chittorgarh

Pl'cadlm those arcas

regions. : d‘
(D)  These forests are sub-types of tropical/dry

deciduous forests. o4

(E)  Question not attempted =

Wﬁmm%aﬂﬁﬁwuéaﬁmm
TR TR

ﬁq%%aﬁwﬁﬁ%mﬁba{mmm
(A) FTwaTI éa‘iﬁﬁ;%%ﬁﬂ U HIR
qerdre 21
(B) %mm%mmmﬁwﬁmﬁ:
(C) ¥® o Teray, 7wy, ﬁqﬂa‘mww
%‘a’rﬁ%—a%

IU-THR ™

(E)  Srgafess r~

f ;
system? ‘ &?ngal drainage

Choose the' mose appropnare answer f
options given below: : oM the

(A) . Chambal - (B) L\m, '
(€) Bonas (®)  Rangay

(E)  Question not alu.mpted(‘,;) b2
T e et

., g

P et v, -

[ Gogg,

.‘.
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- OPQX12]

“Talab-e-Shahi’ lake is located in which of the

following regions of Rajasthan?

~Choose the most appropriate answer from the

options given below:
A)
(B)
©)
(D)
(E) Question not attempted

frfafaa & & fre & 3§ Toeam f q@E-C
T sfter Rua &7
ﬁﬁ%@ﬁ%ﬁﬁﬁ%mmmaﬁ

Udaipur
Kota
Jaipur
Dholpur

ey

2
SAg

gt
SFFuRa v

(B)
©)
D)
(E)

Chambal Valley project is a joigt venture of
which of the following states?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E) Question not attempted

Wmﬂqwmﬁﬁﬁﬁﬁ?ﬁ
U9 8?7

Rajasthan and Gujarat
Haryana and Rajasthan
Madhya Pradesh and Rajasthan
Madhya Pradesh and Gujarat

?ﬁwﬁaﬁﬁﬁmﬁbﬂwmgﬁ:
) R T
gy ACTIEH

(B)
(©) werwew SRTTEH

(D) weg yoqr T[T
(B) orguRawd

99

PSR e, 2y T
3t
A L |

of the following arcas?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©

(D)
(E) Question not gltempted' P

Bikaner
Tonk
Jaisalmer

Udaipur

o 3 ergrergC oo et 4 @ e &

7 R 7
1 R et #f & FEA IUG IA:
(A) ST

o

100

20

(C) WER
(D) SEX
(E) Srgaiawsd

Which of the following National Highways pasS

through Rajasthan state?
Choose the mosi appropriate answer from the .
options given below: N\ e

“d"’
(A) National Highway no. 11 \?\'l' P
(B) National Highway no. 13 ,-;;
(C) National Highway no. 2 q’/y/ g
(D). \‘ﬁltiom\l Highway no. 37 aV
(E) Question not attempted
ﬁmﬁr@aﬁ%ﬁ?-mmnmmmmﬁ
g T &7
ﬁm%ﬁaﬂﬁaﬁﬁﬁﬁwﬁbwmmgﬁ

(©) 3
(D) Vg TSI HEAT - 37
(B) Irafta w4 Qf‘\lo ~

CF Scanned with OKEN Sci

“In Rajasthan, Bisalpur project is located in which
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101 Elght friends collected money to help flood
victims. Six of them brough ¥ 300 each, The

102

seventh person brought T 100 more than the
average of eight persons and the eighth person

104 The First National Space day was

Choose the most appropriate

options given below:

ansﬁ'e

cclebrated ©°

¢ from the

=y aTaT W a9l

brought T 550. What is the total sum brought by (A) 20" August 2024
them? (B) 23" August 2024
" oqth
mﬁﬁmﬁ%ﬁﬁm%mmmhl (C) 27" August 2024
T ¥ 58 T 300 WR =Ry (D) 315" August 2024
e ST 6 ams |- (E) Question not attempted
st & e & X 100 v s i s o T siafee feaw
<, = X 550°mm g e f &mﬁaﬁmﬁammmﬂﬁ

(A) %3400 B) T 2500 * “ot w (A) 20 30TET 2024

2800 ©) T2400 Ty’ V 23 I 2024

o‘/ ~ (C) 273172024

UEStO t att e

7® Questionnota empted’a":ﬁﬁ“w '740 ’ 1?(D) 31 37TET 2024
(E) Srgafawsa
A family consists of grandparents, parents a&/"i:%"
LY

o add ?ﬁqﬁan%mmﬁaﬂmm(aﬁﬁ)

10

T 259,

OpQ

-X12 ] *

- three grandchildren. The- -average age of the two
grandparents is 66 years and that of the parents is
34 years. If the average age of the grandchildrens |
is 8 years, then what is the average age (in years)
of the seven members of the family?

T URETCH 1T 2T, wrar-far s i any - Qifat
| & g i s g ssaé%aﬁmmﬁm?ﬁ
aﬂqamguaﬁ%mﬁqﬁ%mﬁﬁﬁaﬂwangs

(D) 27%
(E)  Question not attempted / TR T4

® 2% WHY% %

S R — \/3;”-G p
o B B) 32 A BN
; 2.8\ 2
© 31 (D) 30 4
(E)  Question not attempted / TFa Tt ¥4
The selling price of 12 apples is equal to the cost | 10
price_of 15 apples. The profit percentage is: " g
|2%ﬁmﬁz§qr@nsaﬁ%mm%wal \_
TN wirare R '
(A 15% s

21

options given below:

(&)
- ®)

©
(@)

'(‘E)

(A)
(B)
©
D)
..(E)

6 What is the least number which ghOUId
to 2928 so that the resulting numbe, ;

Ministry of MSME - it
Ministry of Womenand Chlld Developmem

Ministry of Finance

Ministry of Flshenes Ammal Husbandry

and Dairying .« .

fradme

o T, W@tm%
ST,

divisible by 3, 4, 5 and 6?
2028 W W H WA O UG Sy

gftomd e 3, 4.saﬂ16%ﬁﬁm$m&

(A)
r"’(C)

2

-

8

(B)

rat®) 1

Question not attg;ppted -
ﬁw%i‘@aﬁm&ﬁwﬁa;m
T O S e

n&mmmﬁmqmm

Y

‘Rashtriya Gokul Mission’ is associated with:
Choose the most appropriate answer from the

(E) Questiorn not attempted ’l_m oy

| Coyy a

be add

¥ Cxact]y,

I

ed

@ sc
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107 Who was the first woman from Rajasthan to be
arrested during th?ﬂfreedom movement in
'anasthan'? I~
~ Choose the most a[ff)opr:’ate answer from the
options given below:c:’,
(A) SitaDevi- 7
(B) Durgavati De\{b
(C) Janki Devi Pandey
(D) Anjna Devi Choudhary
(E) Question not attempted
mamm%mmmm
mﬁmnﬁﬂg@?ﬁ? N
frefafaa faeedt & waifires sugs STCE:
(A) Tt g
(B) gt ot
(C) et aig
3iwT &t =)
IrgafE ¥4
("

108 Which constituent gp Henna dye forms a red
colored compound cupon cxposure to air or
sunlight? ©
Choose the ’.’“’{‘ appropriate dnswer from the
options given Belbw?"')

(A)
(B)
©)
(D)
(E) .
e {5 o - Sraeew avg a1 g 3 webrer
w7 37 R A g i s &2
ﬁnﬁfiaaf&wﬁﬁtﬁwff&mmmgi
@ fmm XD

M
(B) FfEaa oy

. e

Quinone . o0

Nephthoquindiie
()}

i
Ammonium G‘hlonde

Lawsone

-

Question not attempted

(
(B rERawd
~ 0PQ-X12] *

22

| e

109 ' Which of the following is not an example of
. .. physical change?

Choose the most appropriate answer from the - -

options given belowco

(A) Cutting a pigeg of paper in four square
pieces (4}

Making a pxecebf chalk from chalk dust
Changing thd_colour of the tips of hack-
saw blade on gtrong heating

Formation of brownish layer on the iron
gates of parks .
Question not attemptcd
ﬁ:l%ﬁiﬁﬁﬂﬁ? %ﬁﬁmmﬁ#ﬂ@m
- TR

“Freferia et @ aafﬁa? IugwH I G:
(A) m%@zﬁaﬁmmgﬁi
e o

i YT & =T o1 ZHeT S

OTIERR-T & =S s T T IEE
Aok b1 07 TG

T % e PEEET T R e
T

(E) ma?rﬁ?rw 0

Which of the follo‘@nng statements is correcl :
about the alluvial so‘&I”m Rajasthan? '
Choose the most qpproprmte answer from the
options given below:
(A) This is found only in northern districts of
Rajasthan. )
This soil is yery useful for the production
of wheat, mustard, cotton and tobacco.
* This soil cbhlains enough quantity of
nitrogen.
The amount "ol

“')D()less in this sqll_

(E) Question not attempted
mmﬁaﬁagm%ahﬁﬁn%ﬁaaﬁ&aﬂw
FY e 87
ﬁwﬁiﬁaaﬁﬁﬁ‘}ﬁmiﬁmmmgﬁ
(A) T TSI 3 et ety foreit o are rret 21
(B) gqﬁ{mﬁ(maﬂtm%mm%

(B)
©

‘(D)

e

(B)
©)

110

(B)
(©)

potash and lime is found

aga Iah &1
(C),. ¥ vgar & WA HiAT & T wram s 1
gﬂwﬁwaﬁtm () A e
Bl :

Tt w4

(E) ;
[ Contd...
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111 . Which is not a type of bush foung in Rajasthan?
Choose the most appropriate answer
options given below:
(A) Fog
© (D) Ama

A (E) Question not attempted )
mmmﬁmﬁmmmmmm

%? Ay

ﬁnﬁ-rﬁaaﬁaa??rﬂﬁmff&mmmgﬁ

(A BT -7 (B) gy :

C© 'y swon
. .(B) wgef@wsr T

fi lbm the

Dhaman

(B)

Lana

112 In an election between two candidates, 20%
voters did not cast their votes and 120 votes were
declared invalid. If the winner gets 75% of the
valid votes and wins by a margin of 1800 votes,
then find the number of voters in the voting list.
A Iefigardt ¥ o= Uk I F 20% waamEre 3
AT A T ST 3R 120 e 373y sifta Ry
afe forsrar s du et 1 75% frear & 9 3@ 1860
BN o ST & <fia Sav @, A waarar gt i Aaamre

— o 4
BS - \ 9\")1. o
Sz

in¢
114 Which of the following factors 40 1" aee
the climate of Rajasthan? from the
' Choose the most appropriate answer '
options given below:
(A)
(B)
(&)
(D)
(E uestion not attempted
ﬁ;%t?ga % F-a1 FTE TAEAH sty
Fruffea et aveam .
e frredi o & gaffies 3ag® 300 30
(A) i feafa
(B) - ity feafa
g i fear
@) wRAH

(E) rgaf@uy

Latitudinal position
Longitudinal position
Wind direction

Dislancc from the sea

115 Which of the following National parks is situated

in Rajasthan?

Choose the most appropriate answer from the
options given below:

,— ‘.,o N
(A) Bandipur &
e g i /,51‘, “ | “)L\""o ‘,.,_}"é\_v
- (A) 4500 (B) 4590 ( ! e (B) Sant Ghati 5 a A 9 =
' 4650 ®) 4680 o ) s (© Keoladev % /c R TR
(E) Question not attempted / 37T 99 W 2 (o @}D) FaZimngg | )
5 \"’o (E)  Question not attempted
' %
113 On simple interest a certain sum becomes < 9300 ?ﬁﬁﬁﬁ %aﬁw—mn@qmm ﬁﬁzm
in 3 years and ¥ 10, 500 in 5 years. The principal .
: s 3ot ;B ﬁﬂ%ff‘@ﬁﬁmﬁﬁﬂmmmm -
sum (in ) is: ‘ g -
T S ot e e i 3 @t ¥ 9300 3R 6N W‘E;
: : B) Ha
ST 10,500 B et 21 A el RN X H) & (B)
- (A) 7000 (B) 7200 ,,JG(D)’ i;“'.'a“
(_,(C/ 7500 (D) 7800 it
(E) TTaiea wor
/(E)/ Question not attempted / :ﬂﬁﬁﬂ P il . |
OPQ.X12] e : v)";g"}?\,a [ Copgg
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116 In 1800 -\.D_tbcﬁmpc:mnlomllpresem
Rajasth:mcg:g\on Rajputana was
Choose the.most appropriate answer from the
options given below:
(A) Gc{j,)%emmas(m James Tod
(C) Hackett (D) Allchin
(E) Quéston not attempted
| yEE e o1
ﬁﬁfeﬁ%ﬁa?—rﬁ 5§ Al SUgE Sul g
—raf“ BIEE] (B) SIS
(C) %% (D) SEraA
(E) IERa¥s
i

117 Which of the following districts of Rajasthan had
the higheghild sex ratio, according to the census
0f 20117 H
Choose the most appropriate answer from the
options giten below:
(A) Jhgl.r'a:wa.r (B) Banswara
© JOGITPUI’ (D)
(E) QLI' Stion not attempted
2011 Fi g % SFTAR U= &1 aiiees are
%ﬂﬁmmﬁmquaﬁ:m%*
ﬁmﬁmnqwar&ﬁmmm
- (A) Z{I?frl’iﬂg EIGEIE

. © " ST (D) =E
(E) gafasa
' m 5

118 According-tb the census of 2011, which district.
of Rajasthgg: has the higl;est urban literacy rate?
Choose thé most appropriate answer from thé

Jaipur

options given below:
(A) Udgigur
(C) Batmer (D)
(E) Quc&t;on not attempted
2011 91 & & STEN, THed™ & s
ELcic mﬂa_r ZT aren fien #F-ar an
Frrfefiad Reredi & @ F9gH IN 3-’!
(A) TR ) @
(C) arg (D) @t
(E) rguRaya

OPQ-X12 ] $

(B) Kota

Alwar

24

119

120

1n which of the following years was the Rajasthan

State Road Transport Corpomtion (RSRTC)
established? (™M)
Choose the mosf dppropriafe answer from the
options given bdq\u
mﬁmﬁ&ﬁﬂﬁﬁmmmm

(RSRTC)EEE_\J BT g5 oT? '
Pttt freed(3 @ i I9Zw ST
(A) (B) 1960
(C) 1962 m @ 1964
(E) Question no n"t“attemptcd / T T

m

\Which of the follBwing statements is incorrect
about genetic varjati ons? .
Choose the mosf=appropriate answer from the
option§ given below:
(A) Some amgp{lt of varation is produced
even during-asexual reproduction.
(B) The numbg% of successful variations are

maximized$by the process of sexual

=
rv:producnegJ
(C) Quite distifict variations are visible among
the individual which reproduce asexually.
(D) Vaﬁationsﬁn}ising during the process of
reproductidn-can be inherited.
(E) Question no nr?attempted

amaﬁm %ﬁF—ﬁﬂft & i § frefafaa J &
.mamamar%?
frfafaa ﬁaaf&asmma?r
(a) 7o fafima aﬁﬁmw%aﬁmaﬁm
Bt 21 |
ﬁhﬁﬁwﬁm?ﬁmmﬁﬁ:ﬁmﬁ
&t wear # gig w21
aﬁaﬁaaﬁffﬂamfﬁmﬁmﬁmm%
i Fafare e sefite 2 &
s Y W & w8 Al i
ST B w8l
IR W

(©)

()

-

[ Contd...

(E)
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121 Which of the fOllOWlng statements are correct
about Mendel's Monffilbrid crosses?

a.

d.

Mendel select&q, wild pea plant for his
experiments. (Y) |
Mendel studidd) the inheritance of one
character at a time.

Mendel's worl-%::\;as neglected for aBout 35
years. :
Mendel used the word factor for gene.

Choose the most appFopriate answer from the
options given below:™

(&)
“+(C)
(E)

a,bandc only& ) b,candd only
a,candd only=(D) b and c only

Question not attempted

m%wwmﬁ%aﬁﬁﬁw%m&ﬁ

J FIT TE =

£ :
ﬁ‘{"ﬁafﬁfﬁwﬁm%mwmm

o) & it A

b. U= I U Ar-F T 07 H FEmfa w0
awmmﬁﬁmwﬁ

c. TGS 1 TN 35 AN 9 Iufea @I
o1l -

d. ﬁ%ﬁﬁsﬁq%g@ﬁawmmﬁﬂm
|

19 fq T fareredt & & waiferes Iugw SR

(A) Facia, b3ie(B) Facb,c3d 7

( FHad a, caﬁTU‘(D) Fadb3iRe ~

FrFafa 9a
r")

122 The character whichdoes not express itself in F,
generation is called- L

(A)
(B)
©)
(D)
(E)

TFIIAF, tﬁé’mﬁf‘aﬁaﬁﬂmqﬁm% ar

Dominant cha‘ia ter

. -]
Recessive character
Allelomorph
Contrasting cl{rll.lctcr
Question not q_t}gmpted

FEATar 8-

(A)

'....‘

wrd’rng

—BT AR O

©

Tefte G

(D) feradier 7o

(E)

FrafE

0PQ-x12 S

123

25

124

: =
“Tamasha* is the famous folk thea

place of Rajasthan?
Choosc the most appmpr!alc?!‘a‘ﬂﬂs

options given below: )

(A) (B) Udaipy

© @ Fianer
(E) Question not attempted =

Jaipur

Kota

Match List-I with List-II :

List-I List-II

(Type of Fort/Durg) (N am;t?;t}t‘ Fort/Durg)

a. Dhanvan Durg I.  (Bharatpur Fort
b.  VanDurg g\}nittor Fort
c. Airan Fort II.  «Siwana Fort

dL g Parikh Durg. V. \isalmer Fort
Hjﬁ' 1% majn 11 =7 firerr hifs -

a. L AT ey

b. . Freltg gy

d. . R gy
Choose the most appropriate answer from
options given below: 07 the

(A) a-Lball,c-1l,d- g‘w

AR a-1V, bl e 11, d oy

©)
(D)

a-lv.b-u.e-m.d?cg
a~lLb-1Lc-1V,d-1 %

(E)  Question not attempted / %Hﬂ '

f which

o) wer from e

ﬁqmﬁmqammmmﬁ
O AR (B) %‘augt
(©) = (D) %ﬁt
() rafaya ?.} ‘
§}}
o

T

Vag
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125 The ratio of the present ages of Pand Qis 5: 7.1
Q is 4 years older than P, then what will be the

ratio of their ages after 4 years?

p 3l Q Fr s g T orgwE 5 : 7RI AR QP

F 4 ad g1 R, 7 4 T AT IR Y FHT AT HT
oy " e

02 (A) 3:4 .

$* ®) 8:11 Q:‘B".{{,‘F :
%/7a 719 AR L
‘ ‘\ (D) 4:5 » 5)\ , 7 e

\O o - Y-

\u\ ? (E) Question not attempted / aﬂﬁﬂ'ﬂ uyq

A sum of T 2400 is divided between A and B is
such a way:that % of A’s share and % of B’s
share are equal. The share of B is:
¥ 2400 T A 37 B % i<t 390 Wb afer St & foh
A 4 foem, B 3 ol o &1 B o e
.-
(a) T 960
31440
(C) T 480
(D) %800
(E) Question not attempted / JTART 51

-

127 What number should be subtracted from each of

numbers 6, 8, 12 and 2(5, so that the resulting

numbers are in proportion? ',.;
6, 8, 12 3T 20 YT | & T HEAT Terg A
mmwmmﬂqﬁﬁﬁ? g\
A) 2 . v Bog £
PR R L.
<€ 3 ""r,_*\”,bfb '
‘@ 1 A
(E) Question not attempted / 3Rl ¥4
OPQ-X12] $ .

26

¢ cloned sheep'died in:

i Dolly, the firs 2
128 y ¢ appropriate answer from lhe

11" Choose the mos
tions given below:
! ";ﬁp?ﬁmwwmﬂ?ﬁﬂ LR
Preffa feedt & watfrm gw I,

(A) 2001 (B) 2003

/9} 2005 (D) 2007

(E) Question not attempted / Nﬂﬂftﬂ' g

129 Thc common drug for the treatment of coccidiosis: ;

in cattle is: :
Choose the most appropriate answer from lhe,-'

- options given below: .
(B) Kanamycin

(A) Gentamycin
1117 (C) Dopsone (D) Chloroquine .
(E) Question not attempted )
mafird § e 3 ST 3 R A '
airafir 2
_ ‘ﬁmﬁiﬁaﬁﬁaﬁq‘iﬁﬁm@ﬁwgﬂ;wy
) SR (B) R
() Twm By T
(B) rafa v
130 Some frogs use which special plant’s pocket of
. water for laying their eggs? :
Choose the most appropriate answer from the -
options given below: :
" (A) Kalanchoe pinnata io T
(B) Cactus
(C) Bromeliads
(D)  Madagascar periwinkle
(E)  Question not attempted 5
@mm@a%mmﬁmmﬁﬂé
T S
: ﬁn%mﬁwwmmmma*
(A)  Fa) f=mr
®) Fwm %
(€) 7Rz -
/LB‘)/ AT Wt
(B) omufaws




131

132

133

Which onc of, the following buffalo breeds is
mainly found at Cnll"chring Centre, Dag,
Jhalawar, anng:lhlﬁl?
Choosc the maost :ip/;mprlatc answer from the
options given belopy

(A) Mehsana ) (B)  Murrah

(C) Bhadawari ™1 (D)  Jaffarabadi

(E) Question nn?z{ttcmptcd
ﬁm%maﬁ&ﬂn?ﬁrm-mmgmmﬁm
WIS ¥, S, TeATaTs, Trrer & uré st 89
ﬁwﬁ!ﬁgaﬁamﬁﬁﬁmﬁbmammgﬁ:'
(A) Weamm > By o

(©) eEh . g’) (D) STHTETY

(E) :ﬂaahawm

. Vi
Which of the follqwjng is not an exotic breed of
cattle in India? €

Choose the most appropriate answer from the
options given below:

-

1
(A) Jersey [~ (B) Brown Swiss
(C) Kankrej (:.O (D) Holstein-Friesian

(E) Question ncst"?xttcmpted
Frefaftaa # & it ¥ @ W3R A frdeh
T TE 82 o4
Frfafae formed! & & atfie svgw smog:
(A) st (B) e Raw

FS vy (D) Bewd-EREe
(B) ergafagal(™

¥9)

Which one of thgi:‘ollowin‘g Italian honey bee
varicty is associaied with increase in yield of
honey? N

Choose the most ca?rpmpriate answer from the
options given below:

(A) A mellifera®™) (B) A. dorsata

(©) A cerana E;g (D) A florae

(E)  Question nopastempted
 Frefafaa # & R wywadt H F-H wenfa
R F ek I @ e 7

Fretfa et 1§ rarffores 3w s g
(A) T (py © SRER

©) udm (D) T IR

(B) rgafayn

OPQ-X12 ] *
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134 Which one of the following i %

fresh walef
prawn? )

the
m !
Choose the most lappropriate answer

fro
options given belo 7
(A)  Peneaus moppdon
(B) Macrobrachc'{i\}lm rosenbergii
(C) Catlacatla
(D)
(E)  Question not attempted , .
Freafee i & A i areravier sret 1 ST &7
(A) ﬁﬁmq}ﬁ%% : .
(B) dmhfaraw Jetvarit

T (©) e T

Apis melliferia

135

E) 3guiays
(B) M

Which of the follawing is not corréct about
CARI-NIRBHEEK)

Choose the most ‘appropriate answer from the
options given bel

(A)

%
It is a result of Indo-German collabomﬁ(,n
project.

(B) Field evaluition done in - Rajasthay, and

Punjab. m :

It is a singldEbloured indigenoys chick,
en,

This chick\eq is for €gg ang

©
(D)

production. e
(E) Question not attempted
Frefafta & &' Poffe $ a5 By
SEELEY TESRTI
ﬁn&f@aﬁmﬁﬁwﬁ%mmﬁ

(A) mm-wﬁmmmw% :
(B) T e G ot e

1EF T A A
(D) WWWWW@H’)W%%
(E) aﬂaﬁﬂﬂmt. ¥

B S
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136  Which of the following statements is incorrect?

137

: options given below:

" (C) Sodium and potassium are soft metals and |

e

-

;ﬁ) m@m@%éﬁﬁwwm

Choose the most appropriate answer from the

(A) Mercury is a metal which is liquid at room
temperature,

(B) Graphite isametal whichis a bad conductor
of electricity.

they can be easily cut with a knife.
(D) Iodine is a non-metal but it is lustrous.
(E)  Question not attempted

s & & S s o & ,
Frferiae fomredt i & waforas soge seca:
T U Ut T ® S A 3 e O R
e & Bt R

(B) U T Tt g ¥ W fogga A e

(€) wifeam 3t dRfimm o e & ofk 3%
mﬁwﬁmmm%l

7
(E) gaia vy

Which of the following is not an alloy?
Choose the mrost aﬁpropriare answer from the
options given below:
(A) Stainless steel it
(B) Cadmium i
(C) DBronze
(D) Brass .
(E) Question not :ill.cmpié'é'n
Fretferfer i & -2l fira w27
frfirfiaa fashedl 3 & Fatfie Iugw S Ih:
(A) =i Yo

Fefiram
() whar it
(D) diae (1)
(E) ITaiaud S

OPQ-X12] s 28

138 M

atch List-I with List-11I:

List-I

s Reflection from L

" apolished or e
shiny surface i

b.  Theterm used for IL Conca"elhiﬂ.,q
an upright image o)
of an object i

c.  The mirror which IIL. Regu{a:r,ﬂ%
always forms %
same sized virtual
and Iaterall}
inverted image

d.  Mirror used in IV. Erect
solar cooker ; & '
and torch !

-1 o gET-11 3 | firer i

a.

b.

C.

d.

L &

Choose the most appropriate answer ﬁ'°m th‘
Options given below:

ﬁﬁ!“ﬁﬁmﬁfrmmm?

@) a-Lb-1v,c-mm 4. 117‘ 11
B) a-1mb-1mr c-I,d- Iv/G :
) a-NLb-1V,c.Ld-II e
@) a.mpb-gc vV,d-I - °, ‘}3‘

(€)  Question not attempted / 3'3“1‘“ W

QG s



139 Malch List-I with List-11 ;
List-1

List-11
Ornaments Wearing Part

a. Thussi L Finger
. b, Borla II.  Ear
c.  Daamna III.  Neck
d.  Jhaale IV. Head
@l%ma‘aﬁumﬁmq%ﬁ’r&m
a.
b.
(.
d.

Choose the most appropriate answer from the

options given below:

et few e ot 3 & warffires suge sec T

(A)
LB

©

(D)

(E)

a-Lb-Il,c-1I,d-1V
a-!",b-IV,c-],d-I[
a-1V,b-ILc-II,d-1
a-Lb-IlLc-1I,d-1V
Question not attempted / 3TTARG 9%

140 ‘Mandana’ is a traditional folk art of :

Choose the most appropriate answer from the

options given below:
(A)
(B)
(€)
(D)
(E)  Question not attempted

TS’ T TS ETeh &l &:

Rajasthan
Kerala
Goa

Maharashtra

forepet 4 & wrarifers sugw s

TS iy
(B) e H
(C) =R
(D) wERTg
, () gut@wy
orQ-x12 | *

29

141

142

-

ed 35
Which type of forests are rega™

valuable as far as the conservation of 10
wildlife resources are concerned?
Choose the most appropriate answer fr°
options given below:

(A)
(B)
©)
)
(E)
e i e e e 8 o S
AT P R T WA T 82

frfafea fred §3 mﬁbasam:«mgﬁ

Protected Torests
Unclassed forests-
Reserved forests
General forests

Question not attempted

R iws wiwg)

®)
©
(D)
(E)

Spaiisha 9
FfEr o (fored Bitw)

BILICEE]

ITFARE 9%

Sariska Wildlife Sanctuary is situated in:
) ‘
(B)
©
(D)
(E) QueStifyn not attempted
TR Tl Iy faa .
(A) i e

(B) omawd

(C) W&

West Bengal ‘
Assam
Kerala

Rajasthan

(E) FaRa wx

@ sc

ned with OKEN Sca
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143  Which physiographic region of Rajasthan is
.known as the *Hadoti Plateau’?
Choose the most appropriate answer from the

options @cn below:
(A)  Armyalli region

(B) [ft'fs'lcm Plain region

(&N Sgu}h-Eastcm Plateau region

(D) ngi-Aﬁd region

(E) Question not attempted

TEIH T 87 Wi 8 Teid & o &

. __any —

mﬂanlg‘m%?. -

Frafafagfee § & waifires suges s T
~

e R

B . -

s

_AGy gt verd &

(D) 3T &

(E) ag?)iﬁaw
=

The *PI4i of Chhapan” is located in which of the
1 1]

followin’é})hysiogmphic regions of Rajasthan? .

Chooseztl;c most appropriate answer from the

options garen below:

(A) Aravalli region
(B) South-Eastern Plateau region
[‘- -
(C) Eastern Plain region
$ o 0
(D) \{Zﬁstem Desert region

(E) Quéstion not attempted
T %ﬂm oA ¥ Frafafaa § & e

iiiiferas g o feaa 87 :
| refafadifedt i & watfis sagew ST

(A) afp}aﬁe?ﬁ

(E)

| - OPQx12]

30

145 . Which of the following statements is not corregt

about the desert soil in
Choose the mos{yappropriate answer from the -

Rajasthan?

options given belbw: |
(A) This soil iﬁ%isplaccd by \yinds.
(B) Thissoil iPund in western Rajasthan,
(C) It lacks in ferfility and keeps more salinity,
e (D) It can absofBrand hold the water much.
(E) Question not at_l‘e‘mptcc-i ; L
e el gy 6 9 P 8
T I e e
Fyierfac frered 8 watfirg: J9g 3
L A T G AR ST €l el
) 7g T af2 '. ¥ gt SITelt 21
‘ )]21 g it Y STeafres AT S 3 AR a
- wEdRl Wy =
() Rl ;
. e :
146 Goitre is caused‘gsle to the deficiency of this
** element in our dief] i
" Choose the ""’S‘%Pmpriate answer from the
s ‘options given below: )
(A) TIron ™
(B) Ilodine @O
(C) Calcium g
(D) Sodium v~
(E)  Question l&!ﬂt(cmptcd
TSR (TETTS) T ST 3 e ey <6 et 35 T
ward: ™
P e {4 sratfires sugen v
A) smE M .
A iR S_i‘ :
(€)  Wfeamw N
D) Wi
(B) orgmfmwy

LS T
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contﬂ“"
:‘..“1 Which of the following iy not o biode

b e k8 OR
grodablo | 149 Which of the following discases i5 7
waste material?

nienble disense?

Chaose the most appropriate answer fvom the _ cr from ‘E'C
options given below: «  Choose the most nppmpr_lmt answ

(A) Ment ) Paint options given below:

(C) Exeretn (D) Leaves of plants (A) Chickenpox o

(E)  Question not attempted

‘ (B) Cholern
i 3 & w-ar Qafieharoi smRie

E1iAN] (C) Cancer “§
ﬁﬂ%ﬁmﬁmﬂﬂmmmﬁ (D) "Tubereulosis
(A) wWiw \/(B‘)/ b ' (E)  Question not attempted
(© v ©) Dt P i 3 av-an mre e €7
(B) orgafa ws & ﬁ ey v B & wrar b Eﬁﬂﬂ'}
- . (A) e dierr
148 Which of the following are not the possible

causes of AIDS? ‘ (B) & iR
2. Drinking impure water from wells and \)9)4“‘

ponds ' {D) ﬂﬁﬁ*@‘ﬁ'@ﬁm
b. By hugging the inflected person @) aﬂ?{ﬂﬂ‘ wro.
c. By injection needle or blood transfusion T
d. From infected mother to baby in the womb ! o
Choose the most appropriate answer from the 150  The number of Gold Medals won by India ir}.‘ 3
options given below: X Paralympics 2024 held at Paris ;\'as:
(A) banddonly (B) aandbonly
(C) a,bandconly (D) canddonly

(E)  Question not attempted

Choose the maost appmprmtc anSWer from g
e

options given below:

P i 4 2 @ g 3 e a7 e, e 2024, T 0 3 1
a. T of arerat @ ST I O v o W |

b. ﬁmﬁamﬁﬁﬂﬁﬂé‘ﬁfm f?fﬁﬁ'lﬁﬂ'ﬂﬁm‘h‘iﬁmffammmtﬁ -
c. mmwnﬁ#ﬁgganmmmmu/f’ A) 7 _ :

d.  wizwfia e & mi i R B 5

oA fo o ferereadt i & wrarfferes Iwg SOOT:

(A) Fabahtds (3) Fa@asth ,/.“—')}‘3

(C) %awio, bafte e ¢ 3fitd M) 6

(E) ﬂﬂ“ﬁ?ﬂlﬂ (B

) Question not attempted / Anfe
OPQ.xu] 3*5 . 31 e,
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